Name:

Shopping Problem$ with Tdx

Shopping Math
N
shirt = $17.60 pair of pants = $39.35
pair of socks = $11.85 t-shirt = $17.55
sweater = $21.25 hoodie = $32.05
belt = $7.25 sweat shirt = $23.65
jacket = $43.75 coat = $46.00
1. Steve purchases a sweat shirt and a t-shirt. How much would he have to pay if
there was a 7% sales tax?
2. What is the total cost of a shirt, a belt, and a sweat shirt if the sales tax is 7%?
3. If Charlie wanted to buy a coat, a sweat shirt, and a sweater, how much
money would he need if the sales tax was seven percent?
4. What is the total cost of a shirt and a jacket if the sales tax is seven percent?
5. If Ella wanted to buy a jacket, a coat, and a pair of socks, how much would she
have to pay if there was a seven percent sales tax?
6. What is the total cost of a shirt if the sales tax is 7%?
7. What is the total cost of a shirt and a belt if there is a 7% sales tax?
8. Marsha purchases a shirt and a belt. How much money would she need if the

sales tax was seven percent?
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2. $51.90

3. §97.26

4. $65.64

5. §108.71

6. $18.83

7. $26.59

8. $26.59

1| Shopping Math
N

shirt = $17.60 pair of pants = $39.35
pair of socks = $11.85 t-shirt = $17.55
sweater = $21.25 hoodie = $32.05
belt = $7.25 sweat shirt = $23.65
jacket = $43.75 coat = $46.00
1. S44.08 Steve purchases a sweat shirt and a t-shirt. How much would he have to pay if

there was a 7% sales tax?

What is the total cost of a shirt, a belt, and a sweat shirt if the sales tax is 7%?

If Charlie wanted to buy a coat, a sweat shirt, and a sweater, how much
money would he need if the sales tax was seven percent?

What is the total cost of a shirt and a jacket if the sales tax is seven percent?

If Ella wanted to buy a jacket, a coat, and a pair of socks, how much would she
have to pay if there was a seven percent sales tax?

What is the total cost of a shirt if the sales tax is 7%?

What is the total cost of a shirt and a belt if there is a 7% sales tax?

Marsha purchases a shirt and a belt. How much money would she need if the
sales tax was seven percent?

© https://worksheetplace.com Image: Scrappindoodles.ca



